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Note: All questions are compulsory. Marks are indicated against each question in square

brackets.

SHORT ANSWERS (1 * 5= 5 marks)

a) Assume that an operational ax'npliﬂer has I5; = 3001 afnd.I‘Bz = 250nA. Determir>

the average bias current. '
b) If Sita is going for AC analysis, than Whati%,glu’ s'sh® is evaluating,

¢) Prove Common Mode Rejection Rati

is ideally infinite.

d) Shyam wants to write an output v equation, in terms of differential input

voltage and common mode voltage: Help him in writing the same.

s

¢) Why current mirror and onstant current bias differential amplifier circuits are

preferred over the resistive-differential amplifier circuits.

[CO1, CO2]

A “LONG ANSWERS (2 5= 10 marks)

2. Ram ‘j(s-?éftudying": the effect of Darlington pair. He has replaced the transistors of emitter
biased dual inpui balanced differeniial ampiifier with Darlington pair. Show the effect on

npulresistance if he uses (a) normal transistor and (b) Darlington pair. Assume the
AN fi ’QMng specifications: Vee =10V, -Vgp =-10V, Re= 2.7KQ, Riyy = Rin; = 50Q, Ry =
; .QKQ, VBE = 0715V, ﬁac = Ba’c: 100. [COI]

3. Design the single input balanced output differential amplifier uses diodes constant current

bias circuit to meet the following specifications :current supplied by the constant current

bias is 4mA, Gain = 40+10, Supply Voltage V=10V {COZ]
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